- . 8
X (] JER)
we 5§ S & -
X
B 2 > | © = ()
m © m o) -
11 ] o © “ >
SNsS N
©O9om .. o0
r 25 = &3
853 S
g oS 2 £=c
5932 |8 88%
N S < - .0
3 < ® | F3%
=)
£
-
E .. ..
< @ @
@) =1 1
< g |8
<
= o
> < <
o > %
- Z 2
o ‘N - c
< - S ]
= a § %
) S N 5
oy o o
o N @
o0 — = | T N
m —_— ® | £ = | O
L s | < | @
L ®) 8! nN| 2| N
.. NN r |£ E 8=
® RW ©oq Llc 8|5
£ o ,% m O g £
2 = 6| E|o
=X
3
&
00SLY | 96 vIYy £6'0Z
._uD“or._v LOGLY 268l
90'GLY £671
B0SLY | = €L'9}
&
qQ &
E ©
vZSiY 8 | 0Csiv| v
7 0 g
98I 0Z'GLY ™
LEGLYy 883 &
SYGIY || E=§ oA
eSSy [0Sy || 258 &1 O
8=o E £ ¢l0
A Se,£8 000
LCED AN SR3T| | ovie
8G'GlY LA
2 5’6
655 | = ov'SIY v9.26
i 01'¢6
4154 €68
. E
. g5ty / - e
g CT AT
- = E _E -
[\VA154 nnnwu,mvm.. m, 0S8
CLGIWELGY | $8T Y]
VLGV | &t & /[ SLISY ool
IISl¥ .
i8Sty |/ 68'cL
8| 3 8y 38 tE8:
A 8Ly | T 1, | 28'SIY 929
68°GLYy g9
£
3
0
8 : ®
g 88317 B 672
109ty VIR TLSS
¥
m 119l
8oLy 75844
\‘ 6191y 80'91Y 602y
@
mr EZOLY | .
o = m A |
I gzol | SEE B4 bE
- g 8G9V [ 2OV || Sn [ SLOY 106C
3 £2TOLY 6992
Zzoly c g SB¥C
- S, EW 200
o YAA]A7 ool ISbas EREY
I~ TAR =
rXveEo
05's)
8
g AR 154 o
g ILoly €87 Q
<O
S 60017 [+ 1R7 Jec +
o
mr 000 m w
g S6°GLY
g6 GlYy 16:98
Z651Y Z6'SIY &5ee
/ 8BSV~ m 2816
— ﬂ, [}
[4-8°134 = =
mr / gely | & 6v'e8
3 eLsly | SE5
A ELSIV [ CLGIY | 89¢ Z78
3 89GIY |\ L1 2 [OLGI¥ mm.w“
1Sy ey,
5
~ N
p R
mw § R
BEGLY W” M [4 4144 L.
iy
] 154 QZ'69
€1GLy Setd
0L GLy 660
mm mww E £ \"zoTiw rols
SES 66°LG
9wy [ EBVIY | SEg €85G
[
z6vLy | “77
68'vLY kiiZ 68'LS
212454 16:6¥
I8VL¥ gegr
E
3
©
| 2\ 1,
8 vIviv | & 6L VIV PYTRYS
3 T ¢ gl | G¢IE
| WA 4% 4 S, E 3 £5°Ge
835 ho
Yoe L
99VIY eV o [ pgre
3 . .
£ €2°0€
3 6svLy | [SEE
\ BSYIY [BSTIY || ST (A
% VIV | \&L6 [ BETIY L9ve
£
<
W
SEVIY BTV Leol
TV 6L
£ S 6601 o
Sdbc )
O — o5 m
Lvia T
N4l 0
POPLY L8]
20y 159
B6ELY . [SEEY 650
] 000
3
2|\
@
W
SIELW 19l Y06
£
S
% 2452 sv'eEly | 8 .
BrEry T &6
GEEIY €Tl
w* 9EElY 8029
o
&
LV ELY 114154 6019
. . EEE
€62y | OL'ELY | SSR
BLELY | BXT | 8SELY g
08Ely | T+& £
E | €0°€
o
plrd
£THLY gi
OE VLY B | VT oo
E5 | SLSv
Do
19v1Ly BIVIV | | & | gozp
8€°6¢€
LSLY zeLE
05SIY | = LL€e
]
N
D
£
I691¥ SOy o 05
[=]
3 1z
A AR €9'0L¥ yooL
18Iy | EEE | 161 09°cl
o T
€8I S08LY | SST 00°LL
rEdH w
Ze'gly 95Z1¥ 7l =
€5'81¥ 00'81¥ Ve ©
8IBIV | S 8L8I¥ 050
$ 000
o
o
o
-
<
<l )
N| €
s 1]
| 2 Q
c 1 ©
W ¥4 -—
o @ Q2
5| o = 5
ol o 0 — %
() — [0 4 (o]
m c = c = [e))
3| & 2 > o | T
o m n E 2 (o]




